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Critically review India’s experience with FDI and FPI inflows.
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The existen(.;e of ‘dualism’ has slowed dé_wn the expected
dynamic role of manufacturing sector in India. Discuss briefly
in. context of above statement the causes of emergence and

persistence of dualism in India.
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“Service sector has contributed largely to the economic growth
of Indian economy since liberalization, and has also played

an important role in facilitating India’s integration with the

world economy.” Discuss. What must be done to sustain the

~momentum of growth in this sector ?
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AIl questions carry equal marks,” 15 marks each.

Attempt any five questions. .
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Review the major macroeconomic developments in India in the

recent years. Discuss the factors that can explain these
developments. _ ‘ .
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What are the reasons for the flight of the Indian entrépreneurs
away from, labour iqtensive industries ? Do you think Indian
labour laws are responsible for it ? If yes, then what needs
to be done regarding prevailing labour laws ? Elaborate.
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“The performance of Indian_ agriculture is often assessed in
terms of its success in achieving food self sufficiency in two
cereal crops i.e. wheat and paddy., Such an approach ignored
the key problems and igsuf_:s of agricultural leconomy of India.”

Discuss the statement and suggest an alternative approach.
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Discuss India’s approach towards financial globalization. What
opportunities have been created in India fqllowing this
approach and what are the risks and chaﬂenges associated
with it ? Discuss.

fadfa Svateeo ®1 3R wRdg gfesm & smen
ﬁm|wﬁra@rawﬁﬁmﬁmm
w1 € 9w 3EY wEfud Sfem 9 gEifaE w §?
AT HiteT |

Critically review ihe performance of Indian agriculture since
1951. Do you really think that the drivers of growth have

changed qualitativcly in the mid-2000s ?
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